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SNBSS - MEAY - BES
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— DAA DY (L, XE)
66,0008 * 78t 462
~ DHXE HES HOHS 428 7Y
1,276,000 * 14 1,276
2 T2 1,830 1,830 0
O 2z22 ¥ HAl 1,830
— DTN £E RERI(2UR) 1,830
UBr 2 25021 %2, 00004 500
=plE3: 1,750l * 7600 1,330
KA M H+ 584 M 3,950 3,370 580
201 2sr2 | 1,450 2,050 A600
2 ZZ2YH| 1,450 1,550 A100
O Zz22 % HAl 1,450
— AY(SS)DNM 52 2E23(SII)
1,750l * 4000 700
— HE(S2)DTNN 52 2ER3(28)
2502 * 3,00004 750
202 01t 2,500 1,320 1,180
01 =Uoid] 2,500 1,320 1,180
O 2uoitl 2,500
— XA LY =T ofHl
50,0008 * 502 2,500
nENY 29 5,867 5,867 0
NE R 5,867 5,867 0
neRY RN 22 5,867 5,867 0
201 2sr2 | 5,867 5,867 0
2 222 5,867 5,867 0
O 2223 2 A 460
— 2852 VSIHA 30,0008 * 1k 30
— AHHE FIIUA 222
30,0008 * 1cf 30
— AYHS BANLRLZ 50,0008 * 104 50
— 2832 282 350,0008 * 14 350
O X2l 5,407
— 2832 AFRBU L I XY
5,407,000 * 1CH 5,407
HAAES o THarzel 10,000 5,800 4,200
B A2l 10,000 5,800 4,200
FM2 2 2 10,000 5,800 4,200
201 2sr2 | 10,000 5,800 4,200
2 32| 10,000 5,800 4,200
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SN oEe
I‘IiH: I—I}\}}\l/\—l‘:' S_=I XHA‘_|-41|-E|
Sl FAL2e (51
SA-EFH - SA(SAH) - MREAY - BES Off &F K 2 S0l &K Hws2
RIEET 4,875
- HEHE 2 2422y R0
1,500 * 3,250 £ 4,875
O AN&ZHIRX b 5,125
— BAH(E2232/E 1%64)
2,953% * 528 1,560
— ZD(HSZE 19854) 2,526%1 * 99m 251
- HEUE 2 24224 K|
380,008 * 144 380
— JIEt BAR2I RN S
2,934,0008 * 14! 2,934
SRRk 19,920 14,795 5,125
amel 19,920 14,795 5,125
MEMYI| Heley 19,920 14,795 5,125
101 2124l 2,520 2,520 0
04 JIVH2EHSE L4 2,520 2,520 0
O oy 2,520
— NZHA AR 35,0008 * 42 « 28 1,680
— RN TEAZA 2 2P
35,0002 * 42 * 6% 840
201 LByl 17,400 12,275 5,125
01 At 2,480 1,755 725
O Y28l 1,850
— RYIIZEED S 2ES A
60,0002 * 10K 600
— AJIN BAEE S 42F ¢
1,250,0002 * 14! 1,250
O T=t| 630
— B0132 1=y 630
mol=, OFE)|, B, 2O
630,008 * 14 630
02 B2 14,920 10,520 4,400
O BZR3 % Al 1,560
— BAXY BANLRLS
100,0009! * 1CH * 23] 200
— A USHA 130,008 = 1CH 130
— BAXY PHR(MY, ZF, 2FX)
1,050,000 * 14! 1,050
— BAXY FIIZA 222
180,008 * 1CH 80
O ANEZHISXHI 1,152
— MYIIEH Z2I| KX
96,0002 * 1CH + 122 1,152
O xe| 12,208
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A
H

X ZH - S
S = -

= Bl (&9 HM
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Z S0l &HH Hlw &2
O ger+=&H| 11,208,000& 11,208
O =2g=g 6,300
- ¢ - =3=g 50,000& » 1 * 126 6,300
O =&l 7,000& = 198 » 3& » 123 4,788
02 32234l 15,890 12,000 3,890
O 3322 ¥ AA 15,890, 000& 15,890
202 04 56,600 45,090 11,510
01 2O 11,000 4,050 6,950
O =0l 11,000, 000& 11,000
02 A0 45,600 41,040 4,560
O NI 200,000% * 199 = 12& 45,600
203 AR =& 11,560 10,944 616
01 JI22ZHRFaH] 6,600 6,270 330
O J22ggRFa| 550,000& 1« 123 6,600
02 HIIMMHRE=EH 760 684 76
O t=Es 40,0003 <19 760
04 BEN2ILRFLH 4,200 3,990 210
O BN2ZLFTHI(3021015t)
350,000 x12& 4,200
405 AHatH S 6,900 3,600 3,300
01 ML ESHSHI 6,900 3,600 3,300
O dzg2 1,000,000& = 1CH 1,000
O Zietdlol M (A3) 4,400,000& * 1CH 4,400
O 2oxt 200,000 * 504 1,000
O et 500,000 = 10K 500




